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ECONOMICS
( Major )
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( International Trade : Theory and Policy )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : IRT=F
o PPTYRY Oed ol

(a) Who developed the concept of income
terms of trade?

Tofretey Al TEC0T FIC SRA AR ?

(b) Define offer curve.
o 42q Siees] |

fc) Write True or False :
T 1T 14
Inelastic reciprocal demand means
favourable terms of trade of a country.
SEfere AR=AES TIETe (71 4T A
fen vee Ja |
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(2)

(d) What is mixing quota?

fafEre e fde & 2

(e) Who called the utility terms of trade as
the true terms of trade?

QA Tl it o wm Qoo 59

f2o1cel w1 fafee 2
(f) Define free trade.
T& i sigear fiy |
(g) State the optimum tariff formula.
I YF ACHT i |
2. Answer the following questions - 2x4=8
©oTq 2PTYRS TeT fere

(a) Distinguish between specific tariff and
ad valorem tariff,

RAafeles wa e Tiifee wsq Tl
12l o1 | :

(b) How changes in technology affect the
terms of trade of 4 country?

A PR T b6 efeen s RN
eI 63 2

(c) What is meant by elasticity of an offer
curve? .
<1 27 e BT RIS W s o

(d) Give two important arguments showing
that tariff is better than quotas.
wF AR ROl TS e gz 10
aFgd I |
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(3)

3. Answer any three of the following questions :
5x3=15

o 2PPTRRd A CreeT fofbre Teq ford :

(a) Explain what happens to the validity of
Heckscher-Ohlin theory in case of
factor-intensity reversal.

TAMH-aER [RPRofRoR  (Fqe  (ZFN-
o’ fefee ©gq (3491 F W00, M 91|

(b) Explain Leontief paradox.
fermib® SRECO1 M <41 |

(c) Briefly discuss the gains from
international trade.

oS TS FRUCTE G SACAB] 7 |

(d) Analyze the productivity-linked terms of
trade by using usual notations.
FeRe Agefee oz I9a oR - Teofrer
GTCe e Mfaws vorgz Roemd T4 |

fe) Clearly state the classification of tariffs
on the basis of retaliation.

dfern fRfes wws c@Rerm =@

T |
4. Answer the following questions : 10x3=30
CE PR e fei
(a) Critically discuss the comparative cost
advantage model. _ 10
SIS Pogea®  JRYR T8 ©GCol
HICEToAT <41 | :
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(4)

Or / =41
Define factor endowment. With a
suitable diagram, explain the price
criterion of modern theory. 2+8=10
TR Alpder e | Sge foad RRe
e ©gd 74 A T <

(b) Explain how gains from trade is
distributed in terms of the Marshall-
Edgeworth offer curves. 10
TbA-Gwadd o G} EFe qfFEE o[/
@1 S Rorea fead +91 28, g 40 |

Or / S=[1
Elaborate the various arguments in
favour of protection.

e FACE 4P f[{fen gfesyz ada w4

(c) Discuss the various effects of import
quotas under partial equilibrium
analysis. 10
s o Reers SmifR wifRee fdeem
fafen 2T Ea RECT SCEDa <51 |

Or / 11
Explain how the welfare of a country is
ensured with the help of an optimum
tariff structure.
I u% NFT STEES @ 9] T [

AfPoe 2, 10 1 |
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